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Accelerated Pre-Calculus |
4.20 Extension for Inverses with Calculator Activity
Give answers in radians.
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Inverse Sine: From the previous handout: Write a formula that uses the principal value
solution for 8 = sin~* x to find the second answer in [0°, 360°).

Now, convert your formula to radians.

Inverse Tangent: From the previous handout: Write a formula that uses the principal value

solution for 8 = tan™* x to find the second answer in [0°, 360°).

Now, convert your formula to radians.

Inverse Cosine: From the previous handout: Write a formula that uses the principal value

solution for § = cos™! x to find the second answer in [0°, 360°).

Now, convert your formula to radians.

Caution: Remember that the principal values for the inverse of sine and the inverse of tangent
will return negative angle values for Quadrant 4. How do you adjust this result to be a value in

[0°, 360°)?
Now, convert this formula to radians.

Examples: Find each for 0 < 6 < 2m using a calculator. Round to the nearest thousandth cf
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Practice: Use a calculator to find two values of 6, where 0 < 8 < 2m. Round to the nearest

thousandth of a radian.

1. arccos 0.9857 2. tan20.1923
4. arctan (-39.7447) 5. sin1(-0.3360)
7. arcsin (0.7723) ' 8. cos™ (-0.1689)
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3. sin 6 = 0.7301

6. cos 0 =-0.4018

9. tan 6 = -0.7350
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